K BUIBEBEN s TR aasT) LT =2EESE— - 8IS

e BEfT ¢ 9T
/:—Ll%_A
i 2 e
H H
WE | e e o " =
&
G
216,060 |1,790(7,850 |~ EeE I FE R 5 - SR R BM R FE s
VAN 7T e BERAT  BEE - TERBORE
11,580 16,130  BNFEEEAERNG EE R SR
| [T It SHELETE - [T - QARSI
= o
?{Z = 4,%50 =
T B TS R B P
21,700 26,250 e MESGUENSERIELEEEE N
JT JC —O7t » REEKERE— Ot (RH
(—) @ |22]6,060 2,0308,090 | g 4ERnREEE ) -
— 3T T |7E
fEH | {11,580 16,400\ = ~ & (4ff) B2 EE—E57 600 T/ L
sRE | T It IR TR (B MO » S
B | I T PR > 5255 200 TC A IR -
oy a=| 7T P - B (RRERE  ATL : 1,520 TTE 4,580
g5 21,700 26,520 % RAIL 1,520 TTE 6,090 T ©
A JC JC
(—) % Q} 6,060 1,710 7’770 %%ﬁﬁﬁ%ﬂiﬁ%é ’ RQEB%{IEH%F%
B 11,580 16,020
B2 bt T
iﬂ A = 4{40 =
ir JT
(Tym=| [21.700 26,140
thErae = =




R BUIBEBEN LSRR T =R RS — - TR

HEFR ==K (TR
T
W & & &
HE R
oy |2 B[] EE & R
e | (B
B A ]05,240 |1,380 790 5 7,410 |—~ FHEESH ST REE -BEWAE -
W 12| JC T JT EEE -~ AR - e EIE
15,240 1,470 ~18.580 H -
L . . |11,8707¢t]
AL JC JC JL
12,580 18,810:\ %H&%%T&Tﬁ*’{’ %%iﬁ*’ﬁ ?’\
T Tt it gﬂiﬁziﬁz; * *ﬁ] ﬁ;ﬂ( B)
\ b EfE?
WA = 3310 o0 =
AL L = EEEREER - BaEER R
21,450 27,680 Y (b)) B1ELLIE TR E I AE T
7T 7C H o BEEHER ) AME S TUWEL
N 5,240 11,310 17,110 Mg -
S se0 |
iL L L L LR (e SR B R
| = IS - 1B
5 | 7 3 950 EHE LEF;&%JJ\HWFO
i S E T 80| = Tt Z/ANGESLOTE » TN LY
t Ot » REERERE— Ot (B
21,450 25,520 HAR AR L BEEE ) -
7T TT
A1 5,240 {1,370 | 7.730 |B~ E (Hl) BESEEF 5 600 7T
N A R B IR AUEEE (BR) M -
= 12,580 17,490 R - 58257 200 TR L
= T T fR -
KB m PIOO sonl m  x smekmemmEs  wE ) w60
7 | 1 L it -
21,450 26,360
ST 5 [E-BRAEEEE I AIL,520 TTF 4,580




7N 15,240 1,410 620 7% 7,270 JC s FAIL © 1,520 JTZE 6,090 JT - &
WA 7T 7T SRHAE{EEEL KBRS
12,580 16,880 fEEEBI S UE -
5 JT JT
B 2
R R T e
1r. 7T
21,450 25,750
7T 7T
AN 05,240 1,410 17,440
. . —. 1790 7T _
B \|1r| T T TC
= 12,580 18,660
TTE TLE
e 3,270 .
G ﬂ_:.é — |2,8107C
|- 101 450 7F 27,530
7T 7T
24,490 30,720
7T 7T
£ 3,310 .
. Tﬁ ES) — 12,9207t &=
fity | 3 TC
31,940 38,170
7T 7T

R= - BUBEEBEN GG SR T R R RS B

AR B - JT
H=
w & & &
HH g = . oy
A B e | 'EEEE
Z
?ﬁv6%%flmmﬁﬁ%@5@~‘§% %ﬁﬂﬁi B IS ESUUE B
—(17 | ' e e 0 Eb TR emAeE - BEE  T8EFEER




EEESY e S
MzEE
(BR) B frte
W E
(Bp) % > 2
(EXNEIE 2

FA | 11,580
1T TT
% 4,550 7¢
21,700
TT
SO
6,060 7T| 2,030 It
—|yr JC JC
F. | 11,580
VA 7T
% (4,8207T
21,700
TL
SO
=17 16,060 9T 2,030 7T
—|\L
A | 11,580
BV
%= 14.8209T
21,700
7T

HiREEEE
73 Z EEBIL
0> R
HAUE -

N f_ﬂ&

L BE () &R

PUB S BB A E R RO B St
”r’j% WHELENE - igE - BAR

/";—A ==21

Bt

HEAE BRI B PR (o FH B4
g 0 MESSEIE g e B

FEPER—/NEARZOTT - =/
AOTT > TN FLHIOTT » R 4ERE(E
HE—_07t ([REK et

BHEHE) -

% - B
PR CRBIE BRI BPE(R)
LRI ) LR (T
e -

U~ E () BRESEE 2
600 tRy EIR - a0 EE (&) Mk
Gl SRS > &Y 200 0T
Ry EFR -

~ B4R A1 0 1,520 TTE 4,580

JC 5 FAIL 1,520 7T & 6,090 T - FE
SREMEFEEEL  REREIERA
EEBI B UE -




VU~ BOLEBE AR L T =R — ~ TR R

BEfir ¢ 7T
=y
HE (R Wk B M % t
L s
Bl || e g N s . o
—f | wH - BEY . EETEE - S
(B STEH -
H | 5240 | 1470 _|8s80| .
el e | e |WT0TE || ST B
T TSRS  HE B s
& 1359311008 _ 16471 ' '
gl e | e |1BTOE| I R NS RO
| 5240 | 1310 0| b ARFEROTT Y PUNEEL
i i JE P ) Ot » RdErsERE——O7 ([
P [ Tsor | s0s o] ER IR -
T | se0TE | T
E T | T T = o U IR R E R
52401 1370 _ 17730 I o
g || T | 11200 |
BE | gt | JT TG
e (39931939 || {15652 U+ BEFREAEER LR
Bl 7w | E o -
H 5240|1410 690 5+ 7270
ol e | | PO | VPERERE - SERRRIE
R 7% 13593 | 966 15179 FRETREENE: » =HF4RcEL+—
g e 620 7T = B RN o
H (5240 | 790 | 790 ¢ | 7410 o y ; .
gl | 7t P G (RS 600 T
X




&
%

3593

=3 790 | 790 7T | 5328 Ry EIR > A0FFEE (5g) MRty -
JT JT SRR - 525 200 TR L

PR -

- BERERBEERES 'Y () &S
o -

JOCBEREEE: AL 1,520 TTE 4,580
JC 5 AL ¢ 1,520 JTZ 6,090 JT ©
FREBIEEEEE - REREE

IRF R EE B o W -




S AT I R A fﬂ;jw S RE— AR
g B -

F=ho—
| R W B oE 5
El: st
\ £agh et &t |- mEmaEnYy e mE
e | mE AT - EET - )
Gl (B%) - TR EEIE -

H 12580~14600(3310| 2920 [18810~20830] LS T AR
T & T T | ot gr | ReRIRIA T e AMT
Hgﬁg 10 7020 EEIITR - BRI s -

S 12s809c || T | 188107T PPE (BR) BELEE TR

= o B e

H [12580~14600(3250 820 7t 16650~18670
L Tt T =, Fﬁ%ﬁﬁﬁ%‘”:ﬂﬂ&éﬁﬁi{hﬂ
e Pl 12580 72 2082052 | 16650 7 e~ B () FILiRT

fx T Hﬁ-ﬂau@f%&w BB
B H [12580~14600(3160] 1750 [{17490~19510 FAEEE TR RIS -
Hg| G| i

N U s T s B R R B S
A B rasso e POV PO 400 52 @ﬁg SPDERE ) i B
7| X Jt | It .

E S0 e TR

H [12580~14600(3200| 1100 |16880~18900 /J\H#/\~OTE s S/ NSO
R T L | T JC & PUNEELIIOTE » 48RS

% | T TR ) -

B2 H [12580~14600(3310| 2810 [18700~20720

H=g| 7 o T | R L A
75 3310| 2810 18660 7T W -

i | 125800T | gt | ot

g | T 2~ PEF R S A L A R
H [12580~14600(3270| 2920 [18770~20790|45E2% -
A | o T




#
i

NN

(4

12580 7T

3270

2920

30720 7T

T EREE - ZERR
BERPETRREIE: - =58
RN+ ERRNE - -

J\~E () B2 EE—E57 600
LR ER > WFEE (B) M
R SRR E > 52
73200 JT A EIR -

U~ BERAREEREE > '8 ()
LA TGUE -

+ o~ BAEEEE A2 1,520 0T
£ 4,580 7T s #AAL ¢ 1,520 7T
£ 6,090 T - FEEUIEERE
B4 IREBREEREELAIS
I -




TN BIIBEBEN IeR T EERIL T ZREE S — - TR IEU

U B IR B T
5
H &l WESH # =
T ¢ 110 7T RIEEE R -
RATRA B ~ R EE A S B B B T
45 7T
PREEEE & 110
#® =
Lﬁéﬁﬁﬁﬁﬁﬁ\ IR 600 7t 1L EEE RIS R P EERER T
" R TEAENE ) K T BRI ER
i E%’Eﬁﬂﬁﬁﬁﬁﬁﬁﬁ’%ﬁw
s i’iiwgi@%&ME’m%ﬁ%
PEERE = g 50 7T
ZEGE =P 100 7T
B4 REE 138 T N A (U
kot 7K R R B | 50 T
=
37K 80 7T




xRt B EGEANLIL SRR ZEREEE— - TR S TR T

o B : 5t
F=t
7 Kmew | ® %
SRR — 0 6 -
SOBMBARENEE | 206000 HEREEELT - SRETTE -
= -
SRR ST O 6 -
D e 60TE  [EREIRHLLT » SRE T -
= R AR -

ERREIFEOIL O -

PRSI 1,430 T (MERERHLIT - SRETETE -

=t AZET -




=

RN\Z— BIIEETFECERIN T =2EEE— - “EBHKETEH S5

£/\Z—
B2 & g2E ¥ (8B ) B &t
T %/3,5937% 1,008 7. 1,870 7¢ 6,471 7C
B ¥/3,5937T 945 JT 790 T 5,328 7T
B H[3,5937T 939 JT 1,120 7© 5,652 JT
X E|3,5937T 966 JC 620 JC 5,179 7T
B ¥03,593 7T 898 JT. 560 JT 5,051 7T
W —F [3,59378 1,27 o EEEEYE (B) #E 4,820 7¢
R R SBEERCE
B (13,5937t 1,392 t/E (B) BEEKEE 4,985 7T
Hr&K F -

=4 (13,5937t 1,17127C 4,765 7T

&

B P FEBERI T =BEEE —  “EH=FRREHE S =
I+ — SRR — R T -




®/\ZZ - EEERIERTFECERI T =BFES— - ZEHHKEE

BHE&HAT :
RNZZ

B =5 B2EE (B) BS &t

I % 12,580~| 2,269 7 2,920 55| 17,769~25,393 7T
20,204 I

S -t 12,580~| 2,166 7T 1,750 7| 16,496~24,120 7T
20,204 I

x =B 12,580~| 2,194 7T 1,100 7t 15,874~23,498 7T
20,204 I

EE 12,580~| 2,228 5T 820 7T| 15,628~23,252 7T
20,204 7T

BEE 12,580~| 2,269 7T 2,810 55| 17,659~25,283 7T

H 20,204 7T

] 12,580~| 2,242 75T 2,920 55| 17,742~25,366 TC
20,204 5T

L — 4F 12,580~| 3,120 t/F B E B TR & 15,700~23,324 5T

| & 20,204 5T o LEIREBES

2] g 12,580~| 3,305 TRtz EE (B&) &| 15,885~23,509 T

F & 20,204 7T U EHUE A

= 12,580~| 3,044 5T 15,624~23,248 ¢

& 20,204 7T




